KerL Soicmomery Quiz
Review

PERFORM THE FOLLOWING LIMITING REACTANT PROBLEMS:

1. If 25.3 g of aluminum reacts with 25.3 g of copper(II) sulfate, how many grams
of copper are formed? Identify the limiting and excess reactants in this single
replacement reaction. 9
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a) What is the limiting reactant in the reaction? The reactant in excess?

C\LSOq is LR, A‘ is in excess

2. If 24.5 g of iron are placed in 1.00 L of 0.25M HCI, how many grams of FeClz are
_ obtained? Identify the limiting and excess reactants in this single replacement
reaction. 1
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What is the limiting reactant in the reaction? The reactant in excess?

H’Q\ is LR, Ff’; is in excess




PERFORM THE FOLLOWING PERCENT YIELD CALCULATIONS: A

3. If 12.5 g of copper react with excess chlorine gas, then 25.4 g of copper(II)

chloride are praduced. Find the theoretical 5asd percent yields.
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Cu +Clz > CuCIz
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4. If 6.57 g of iron react with an excess of hydrochloric acid, HCl, then 11.2 g of \elf
iron(II) chloride are obtained in addition to hydrogen gas. Find the theoretical
and percent yields.
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5. If 5.45 g of potassium chlorate are decomposed to form potassium chloride, 1.75
g of oxygen gas are also given off. Find the theoretical and percent yields.
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